

THE BOARD OF DIRECTORS

PATRICIA ADAMS
Chair and President
ANN CAVOUKIAN
Executive Director, PBDI, Ryerson University
GLENN FOX
Economist, University of Guelph
BRUCE PARDY
Professor of Law, Queen's University
ANDREW ROMAN
Lawver

MAX ALLEN
Producer, CBC Radio
DAVID CAYLEY
Writer and Broadcaster
IAN GRAY
President, St. Lawrence Starch Co. Ltd.
GAIL REGAN
President, Cara Holdings Inc.
GEORGE TOMKO
Expert-in-Residence in IPSI, University of Toronto

July 30, 2021

Christine E. Long Registrar Ontario Energy Board 2300 Yonge Street, P.O. Box 2319 Toronto ON M4P 1E4

Dear Ms. Long,

RE: EB-2020-0133 COVID-19 Deferral Account Consultation Energy Probe Cost Claim

Attached is the cost claim of Energy Probe Research Foundation (Energy Probe) for its participation in the EB-2020-0133 COVID-19 Deferral Account Consultation.

Please send payment to:

Energy Probe Research Foundation 225 Brunswick Avenue Toronto, ON M5S 2M6 Attention: Frank Cianflone

Yours truly,

Tom Ladanyi Consultant representing Energy Probe

Energy Probe Research Foundation 225 Brunswick Ave., Toronto, Ontario M5S 2M6

Ontario Energy Board COST CLAIM FOR CONSULTATIONS



Affidavit and Summary of Fees and Disbursements

This form should be used by a party (defined in the Practice Direction on Cost Awards as including a participant in a consultation process) in a consultation before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board Notice of Hearing for Cost Awards. Please ensure all required fields are filled in and the Affidavit portion is signed and sworn or affirmed.

	Instr	uctions	
- Required data input is indicated by yellow-sl	naded fields. Form	ulas are present in the doc	ument to assist with the calculation of
the cost claim.			
- All claims must be in Canadian dollars. If ap			
- A separate "Statement of Disbursements Be	Rate:		Country:
However only one "Statement of Fees Being C			
Being Claimed" covering the whole of the par		- 1 1 1 1 1 1 1 1.	arsements
- The cost claim must be supported by a comp			the party.
- A CV for each consultant must be attached u	nless, for a given	consultant, a CV has been p	rovided to the Board in another
process within the last 24 months.			
- Except as provided in section 7.03 of the Pro-	actice Direction o	n Cost Awards, itemized re	ceipts must be provided.
File # EB- 2020-0133		Process: Consultation	on the Deferral Account – Impacts
Party: Energy Probe Research Found	ation	Affiant's Name:	Thomas J. Ladanyi
HST Number: 10730 5146 RT0001		HST	Rate Ontario: 6.50%
Full Registrant		Qualifyin	g Non-Profit
Unregistered			Tax Exempt □
Other			
	Aff	idavit	
I, Thomas J. Lada		, of the City/Town of	Toronto
in the Province/State of		Ontario	, swear or affirm that:
1. I am a representative of the above-noted p 2. I have examined all of the documentation i Disbursements Being Claimed", "Statement o 3. The attached "Summary of Fees and Disbur Disbursements Being Claimed" include only c the Ontario Energy Board process referred to	n support of this of f Fees Being Claim sements Being Cl osts incurred and	cost claim, including the atta ned" and "Statement(s) of D aimed", "Statement of Fees	ached "Summary of Fees and isbursements Being Claimed". Being Claimed" and "Statement(s) of
4. This cost claim does not include any costs f	or work done, or	time spent, by a person that	is an employee or officer of the Party
as described in sections 6.05 and 6.09 of the I	Board's Practice D	irection on Cost Awards.	
Lonar			
Signature of Affiant			
Sworn or affirmed before me at the O	City/Town of	Toronto	
in the Province/State of	Ontario	, on	July 30, 2021
ES! VOLVE SE			(date)
三个。 "一"			
35 dil 4 12			
Commissioners with the			
Commissioner for taking Affidavits			

Ontario Energy Board COST CLAIM FOR CONSULTATIONS Affidavit and Summary of Fees and Disbursements



File # EB- 2020-0133	Process:	Consultation on the Deferral Account – Impacts A

Party: Energy Probe Research Foundation

Summary c	of Fees and Disbursements Beir
Legal/consultant fees	\$11,055.00
Disbursements	\$0.00
HST	\$718.58
Total Cost Claim	\$11,773.58

Payment Information

Make cheque payable to: Energy Probe Research Foundation

Send payment to this address: 225 Brunswick Avenue

Toronto, Ontario

M5S 2M6

Attention: Frank Cianflone

Detail of Fees and Disbursements Being Claimed

Statement of Fees Being Claimed

Statement of Fees being claimed for Eligible Activity is found on the third tab of this workbook.

Statement(s) of Disbursements Being Claimed

Statement of Disbursements being claimed is found on the fourth tab of this workbook.

圖

Ontario Energy Board COST CLAIM FOR CONSULTATIONS

Affidavit and Summary of Fees and Disbursements

Individual Whose Costs are Being Claimed

Name: Tom Ladanyi			
		Year Called to Bar	Completed Years Practicing/Years of Relevant Experience
Counsel/Articling Student/Paralegal:			47
Analyst/Consultant:	4		
Analysty consultanti			
CV attached:		CV not required:	
Name:			
			Completed Years
		Year Called	Practicing/Years of relevant
6 1/4 :: 1: 6: 1 1/5 1		to Bar	experience
Counsel/Articling Student/Paralegal:			
Analyst/Consultant:			
CV attached:		CV not required:	
Name:			
			Completed Years
		Year Called	Practicing/Years of relevant
		to Bar	experience
Counsel/Articling Student/Paralegal:			2 - 3 - 3 - 3 - 3 - 3 - 3 - 3 - 3 - 3 -
Analyst/Consultant:			
CV attached:		CV not required:	
Name:			
			Completed Years
		Year Called	Practicing/Years of relevant
		to Bar	experience
Counsel/Articling Student/Paralegal:			
Analyst/Consultant:			
CV attached:		CV not required:	l
Name:			
		Year Called to Bar	Completed Years Practicing/Years of relevant experience
Counsel/Articling Student/Paralegal:			THE RESIDENCE OF THE PARTY OF T
Analyst/Consultant:			
함께 보통하는 경험 교육하는 경험 모든 사람이 되고 있었다.			
CV attached:		CV not required:	

Ontario Energy Board
COST CLAIM FOR CONSULTATIONS
Statement of Fees Being Claimed

File # EB- 2020-0133

Consultation on the Deferral Account – Impacts Arising from the COVID-19 Emergency

Energy Probe Research Foundation Party

HST Rate: 6.50%

	Activity	Activity Preparation for, and attendance at, the preliminary hay 28, 2020 stakeholder meeting	Written comments on Draff Issues List	Written comments on the form of consultation to be adopted	Preparation for and attendance at the January 14, 2021 webinar: Written comments on the Staff Proposal; Reply comments on other stakeholders' comments			
	Hour	Hours 1.5 times actual meeting time, up to a total of 3.75 hours	Up to 12 hours	Up to 0.5 hours	Combined up to 45 hours			
Whose Fees are Being Claimed	Hourly rate	THE REAL PROPERTY AND PERSONS ASSESSED.	民 は 一大 一 大 一 大 一 大 一 大 一 大 一 大 一 大 一 大 一	となって ないのとなる とのなる これできるとうとう		Subtotal	HST	Total
	\$330.00	3.50	7:00	00:0	23.00	\$11,055.00	\$718.58	\$11,773.58
						\$0.00	\$0.00	\$0.00
						\$0.00	\$0.00	\$0.00
						\$0.00	\$0.00	\$0.00
						\$0.00	\$0.00	\$0.00
						\$11,055.00	\$718.58	
						Total legal/c	Total legal/consultant fees:	\$11,773.58

Ontario Energy Board COST CLAIM FOR CONSULTATIONS



Statement of Disbursements Being Claimed

File # EB-	2020-0133	Process: Consultation on the Deferral Account – Imp
Party:	Energy Probe Research Foundation	
Name of in	dividual whose disbursements are being clain	ned: 0
		HST Rate Ontario: 6.5%

	Net Cost	HST	Total
Scanning/Photocopy		\$0.00	\$0.00
Printing		\$0.00	\$0.00
Courier		\$0.00	\$0.00
Telephone/Fax		\$0.00	\$0.00
Transcripts		\$0.00	\$0.00
Travel: Air		\$0.00	\$0.00
Travel: Car		\$0.00	\$0.00
Travel: Rail		\$0.00	\$0.00
Travel (Other):		\$0.00	\$0.00
Parking		\$0.00	\$0.00
Taxi		\$0.00	\$0.00
Accommodation		\$0.00	\$0.00
Meals		\$0.00	\$0.00
Other:		\$0.00	\$0.00
Other:		\$0.00	\$0.00
Other:		\$0.00	\$0.00
TOTAL DISBURSEMENTS:	\$0.00	\$0.00	\$0.00

2/

2 of 5

TL Energy Regulatory Consultants Inc.

Date: July 30, 2021 Invoice No: EPRF 2021-18

To:
Frank Cianflone
Energy Probe Research Foundation
225 Brunswick Ave.
Toronto, ON
M5S 2M6

From:
Tom Ladanyi
TL Energy Regulatory Consultants Inc.
41 Divadale Drive
Toronto, ON
M4G 2N7

Phone: 416-423-3685

E-Mail: tom.ladanyi@rogers.com

OEB Docket: EB-2020-0133 COVID Consultation

Date	Description of Work	Hours	Rate	Amount
2020-05-27	Meeting Preparation	1	\$ 330.00	\$ 330.00
2020-05-28	Meeting Attendance	2.5	\$ 330.00	\$ 825.00
2020-06-05	Issues List comments	1.5	\$ 330.00	\$ 495.00
2020-06-08	Issues List comments	3	\$ 330.00	\$ 990.00
2020-06-09	Issues List comments	1.5	\$ 330.00	\$ 495.00
2020-06-11	Issues List comments	1	\$ 330.00	\$ 330.00
2021-01-13	Webinar preparation	2	\$ 330.00	\$ 660.00
2021-01-14	Webinar attendance	4.5	\$ 330.00	\$ 1,485.00
2021-01-16	Submission on Staff Proposal	2.5	\$ 330.00	\$ 825.00
2021-01-17	Submission on Staff Proposal	1.5	\$ 330.00	\$ 495.00
2021-01-18	Submission on Staff Proposal	1.5	\$ 330.00	\$ 495.00
2021-01-19	Submission on Staff Proposal	3	\$ 330.00	\$ 990.00
2021-01-20	Submission on Staff Proposal	4	\$ 330.00	\$ 1,320.00
2021-01-22	Submission on Staff Proposal	2	\$ 330.00	\$ 660.00
2021-01-24	Submission on Staff Proposal	2	\$ 330.00	\$ 660.00
			Subtotal:	\$ 11,055.00
	GST/HST No: 77848 0921 RT0001		HST 13%:	\$ 1,437.15
Cheque payable	to: TL Energy Regulatory Consultants Inc		Total	\$ 12 492 15

Cheque payable to: TL Energy Regulatory Consultants Inc.